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[1] ¥2PCB 2,700 %20 %60
[1-1]E/ 7 unb 7=V} 3.8 0.9 2.3
[1-2] V7 ou b7 =)L 81 4 12
[1-3] N Zunu b7 ==/} 350 3 9
[1-4] 7 b T 7nnbE 7 c=/LE 680 4.1 12
[1-4-1]1 =75 F—PCBDH H 3344-T hF7unb 7 =)L (#77) 6.5 0.7 1.8
[1-4-21 =75 F—PCBD 5> H 344'5-F hTr7nnb 7 x=/L (#81) tr(0.6) 0.6 1.7
[1-5] X Z 7 mu b7 x=)LfH 830 2.8 8.4
[1-5-1 =7 FF—PCBD 5 5 233 44-X %70t 7 ==/ (#105) 32 0.7 1.7
[1-5-2] =75 —PCBD 5 H 2344524 7unb 7 ==)L (#114) 34 0.6 15
[1-5-3] 27T F—PCBD 5 5 234452470t 7 ==/ (#118) 100 0.8 2
[1-54] =75 F—PCBDH b 234452 F7unb 7=/l (#123) 25 0.6 15
[1-5-5] =7 FF—PCBD 5+ 3,3 445X % /7nnb 7 ==/l (#126) tr(0.9) 0.7 1.9
[1-6] ~XH /oo b7 = =/LSH 630 2 6
[1-6-1] = 7T F—PCBD 5 H 23344 5-~F V7 oot~ =) (#156) 6.5 0.7 1.8
[1-6-2] =75 F—PCBD 5 H 23344 5-~FH/nob 7 ==/ (#157) 1.9 0.6 1.6
[1-6-3] =277} —PCBD Y H 2,344 55-~F Y7o ” ==L (#167) 5.1 0.7 1.8
[1-6-4] =75 F—PCBD 5 H 3344 55-~FH/7nob 7=/ (#169) nd 0.7 1.8
-7 ~7 %7 vnbe 7=/ 150 0.9 2.3
[1-7-1]1 =75 F—PCBD 5 © 223344 5-~F X /nnb 7=/ (#170) 11 0.8 2.1
[1-7-21 27T —PCBD 9 H 2,2' 344 55 -~7 X 7uut 7 x=)L (#180) 32 0.7 1.8
[1-7-3] = 75 F—PCBD 5 H 23344 55-~F X /nnb 7=/ (#189) tr(0.7) 0.6 1.6
[1-8| A4 /7nnbE T x=/LfFH 16 1 3
[1-91 /)77 v b7 =)L tr(2) 1 3
[1-10] T A Z v b7 =/l 1.8 0.6 1.5
[2]HCB (~¥H s ma~xr£y) 1,300 2.7 8.1
[7]1 7 2 V7 R 1,100 5.6 %17
[7-1] cis - 440 1 3
[7-2] trans- 110 2 6
[7-3] A X7 s 82 1 3
[7-4] cis - 120 0.6 1.4
[7-5] trans - 370 1 3
[8] ~7 % 7 v /VH 130 4.6 X14
[-1] ~TF & 7 L nd 0.9 2.4
[8-2] cis - 130 0.7 1.9
[8-3] trans - nd 3 9
[11] HCHZH 280 X4 %12
[11-1] a-HCH 65 1 3
[11-2] p-HCH 200 1 3
[11-3] y-HCH 17 1 3
[11-4] 6-HCH 3 1 3
[4] RY TP 7 o xo—F )V (RFEHD4HI0ETOHD) tr(240) %140 %420
[14-11 7 T T a7 ==)L=—7 )L 53 5 13
[14-1-1]12244-T b T 7 0V T = =)L —F /)L (#47) 24 5 13
[14-21 v Z T a7 = =)L =—7 )L tr(8) 4 9
[14-2-1]12,2' 44’ 5-~2 Z 7 0 EY 7 = =)L =—F )L (#99) tr(4) 3 9
[14-3] ~"F YV T a7 = =)L =—F )L tr(17) 8 21
[14-3-1]12,2'44' 55 -~F¥ P T aEL T = =)L —F /L (#153) nd 7 18
[14-3-2]1 2,2' 4,4' 5,6'-~FH T HED T = =)L =—F /)L (#154) tr(6) 4 11
[14-4] ~T' X Tuxy 7 = =)L —7 L nd 5 13
[14-4-1]1 2,2'3,345,6-~7Z 70 &7 == Lx—F /)L (#175) KON nd 5 13
[14-4-212,2'344' 5'6-~T X T aEY T =)L =—7 )L (#183) DOHFHHE
[14-5] AV Z 7T aEY 7 = =)L —F )LL nd 6 16
[14-6] / F 7 aEY T = =)L —F )LJF tr(18) 14 36
[14-71 THTuED T 2 =)L —F )L tr(140) 100 300
[15] ~v 7 vFut s X Ak (PFOS) 47 3 9
[16] /v 7 v A a4y % L (PFOA) 20 2 4
[17] <o X 7oax B 120 5.1 15
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[19] 1,2,5,6,9,10-~F VT uE 7 a KT 0 ¥H 310 %26 %78
[19-1] «-1,2,5,6,9,10- 290 9 22
[19-2] 8-1,2,5,6,9,10- tr(9) 8 21
[19-3] y-1,2,5,6,9,10- tr(12) 9 24
[20] AR VAL F 7 Z L 77 319 357
[20-1] £ ¥k F 7 2 LV tr(10) 6 18
[20-2] PHidb T 7 X L FE 29 2 6
[20-3] F UMk F 7 2 L 15 2 6
[20-4] 7 hZHEAb S 7 X LKA 18 2 4
[20-5] N 2k T X VB 5 2 5
[20-6] ~F VLT X LK nd 2 5
[20-7T] ~F 2 b7 X LV H nd 2 4
[20-8] A2 b T H L~ nd 1 3
[22-1]1 X F7upn Tz ) —)b 990 21 63
[22-2] X FzuunT =Y —) 26 1 3
[23] SRR N T 7 4 VHE 9,400 32,600 37,800
[23-1] R T B HE 2,800 500 1,300
[23-2) FElb v T U HH 4,000 1,000 3,000
[23-3] #FFL KT H JE 2,200 700 2,100
[23-4) Rk N U T HH tr(600) 400 1,100
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